IEEEMERAT
DAR GANG MACHINERY CORP.



AN E R G A BT TR T R 4 A LS B AT I AT A ] » S

LXZEDARGANG T TSRS M > A B E RS i B s ERA <E s R B R
&8y > RREIRGE L~ BRI AYREH > SRARBBINSNEFRS > A

SEMGIT RIS SR TR -

AN E DA i H EE B = i E B R - RN EUBR & JE B R
EEEEDE SR - R aa GERERIE - RE O EEnE - DIRHEFE
ERCERAE ~ EREAIRES DU TRy SRR - i F AR - EATESEE T
A AL > DA BHBIPSS MR > STt dd B (R A Ry H Y -

We have a profession technical and manufacturing team formed originally from

Ruey Chaang Electric Co.,Ltd. (CRELEC) and has been selling brand word-wide. The

company has T%Gparcanc more than twenty years of high-pressure blower field

experience with spirit of providing quick service and technical based high quality
products for our most valuable customers and potential business partners. Your interests

and enquires are always welcome.

A brand new set of modules have been invented to upgrade quality of our
high-pressure blowers leading the new series of blowers are both in appearance, air
pressure and volume more desirable than the old series. Rigorous tests and inspections
have conducted for each blower ship out of the factory for firm 100% high quality
products deliver to customers. The purpose is to make sure customers receive most
efficient, higher quality service and muti-choice of products that will support local and

global machinery manufacturers to upgrade their product quality and minimize cost.

mz* WWW.DARGANG.CN



YMAERK External bearing ;%}\g Motor
HUEAR4F Cool-running T3 50/60Hz - BAFERUE 2

S iz . 42 F 4 > 1P55
HI =2 K Long |
PR Long life - Industrial quality 50/60Hz

Squired-cage motor
totally enclosed(IP55 )

with F class insulation

D JHE % Silencer
NS E Built-in silencer

e 7 U] E JER
Shock-absorbing mounting plate

JHES Shaft Seal
E BN RE S E -
e L SR A A Pl -
Motor protected by
maintenance-free shaft seal

(e EeRna G & M
High-efficiency die-cast
impellers for all types

TEES)

BB AEHA A - LR YEZE RE N EZS » INE] R
B /KEREERI T -

Easy to install

The blower is a complete unit ready for immediate
installation either as a vacuum pump or as a compressor.
The unit can be mounted in any position, horizontally or

vertically.

GIREE > RS

s EBREL S S R TR - BRI e SRR > B
WA © bR 7 REE 24 - SeEi A HAE (- N5
RS -

Rugged, the cast for the impeller and the motor are
individual to be made by aluminum. The blower has the
highly-developed design which results in a pump
construction with one moving part, a feature ensuring
maximum operating reliability. Maintenance free!

TG

JR\EE gl - R BT T - R RS
Ho

No oily odors

The impeller rotates with absolutely no contact between it
and the housing. This means no lubrication is required,
guaranteeing 100% oil-free operation.

a5

(IR E (KRR

— R R (R B e L P IS4
BV T T I B T (7R Y B 5
BRE -

Low Noise and Vibration

The use of direct-driving low-noise motors and integral
silencers ensure a low noise level. Dynamic balancing
minimizes vibration.

]

E G FERGEE - T — o R AR
SRR, -

High Efficiency

Under serious QC control, the parts used in DG blower

are of top quality. All blowers are made by professional
technicians.

WWW.DARGANG.CN



H5E HH 4R 4R 5% AR B8 B THECEEE B AR AR 252 =
Model Curve No. Frequency Output Voltage Current 1§ Vacuum / ™ Compressor | Max Airflow| Noise Weight
(Hz) kW) V) (A) (mbar) (m’/min) (dB)A Kg)
0.18 100-120/200-240 2.50/1.25 50/40 ]
DG-100-11 2 30 = =L 6.5
Gl 60 0.2 110-120/220-240 2.55/1.28 70/70 1.2 55
0.4 100-120/200-240 5.80/2.90 110/130 ]
DG-200-11 . cal 1o i 11.5
G2 60 0.5 110-120/220-240 7.80/3.90 130/150 1.8 61
0.4 100-120/200-240 5.80/2.90 110/130 ;
DG-200-11W s 0 s 28 12
G3 60 0.5 110-120/220-240 7.80/3.90 130/150 1.8 61
0.75 100-120/200-240 11.6/5.80 140/150 0
DG-300-11 L, cal &5 60 16
G4 60 0.85 110-120/220-240 13.0/6.50 140/140 3.1 64
0.75 100-120/200-240 11.6/5.80 140/150 :
DG-300-11W 2 cll 23 @ 16.5
G5 60 0.85 110-120/220-240 13.0/6.50 140/140 3.1 64
1.1 100-120/200-240 14.6/7.30 160/190 ;
DG-300-31 ] L 8 63 16.5
G6 60 1.3 110-120/220-240 16.6/8.30 180/190 3.1 64
1.1 100-120/200-240 17.0/8.50 150/150 .
DG-400-21 2/ cal E, Ll 23.5
G7 60 1.3 110-120/220-240 19.0/9.60 150/140 4.4 73
1.5 100-120/200-240 20.0/10.0 180/190 ;
DG-400-31 2 2l 37 il 26
G8 60 1.75 110-120/220-240 22.8/11.4 180/170 4.4 73
D 1.5 100-120/200-240 20.0/10.0 180/190 3.7
DG-400-31W i cll 70 26.5
G9 60 1.75 110-120/220-240 22.8/11.4 180/170 4.4 73
D10 50 0.75 100-120/200-240 9.20/4.50 180/220 1.6 60
DG-230-11 17.5
60 0.85 110-120/220-240 11.0/5.40 200/220 1.8 66
D11 50 1.5 100-120/200-240 20.0/10.0 240/250 2.6 66
DG-330-11 28.5
60 1.75 110-120/220-240 22.8/11.4 250/260 3.1 69

fffat © 1L EMERESE - EARDELRE -
QANEIRA SGTEE 2R > A S TR -
3B SEH R A S AL E]

AUGREREA RS 50Hz 60Hz
Description of model Voltages Code

DG- XXX-xx 0: 1~ 100-120V 110-120V

%515k / Series number 1 1~ 100-120/200-240V  110-120/220-240V
2 : 1~ 185-220V 200-240V

DG-xxx-Xx B 1~ 200-220V 220-240V

REZZINFIRRNGEF | |4 - 3~ 200-240VA 200-240VA

The sort of output in each series | (5 = 3~ 185-225A /320-390Y 2002408 [345-415Y | [ T e Wt
6: 3~ 200-240A /345-415Y  220-2750 /380-480Y B {SEUEE Low Prossure

DG-xxx-xX T TR EERR L /&£ Terminal box on the left

RFERE / Voltage Code 8 : 3~ 345-415A /600-720Y  380-480A /660-830Y R #ifz Terminal box on the right
9: 3~ 400-460A /690-790Y  415-500A /720-860Y

. WWW.DARGANG.CN



mms 50HZ g/ Single Suge s S0HZ 888/ Two Stage
wemsn O0HZ ~ 8:/Two Stage Wmm

_____________ e i “1__ —T_ _ -
/ /m /i = 1 JB&/ Volume

o . D e
——— DEDI 7 il R & % (nr'/min)
P s A A S A W 4 06

(S
a0 e | _~— ¥ 7

/. 04

D10 / a3 / G{ Di(

/‘ 0.2
D2D3
I O T T
300 250 200 150 100 50 0
3R/ Static Pressure(mbar)
mmmm 50Hz M8/Singe Stge wn 50Hz %84/ Two Stage
4 \\
3 Q%
2 \x&ke&m
T — 7\
15 _\_ ~ = DT [l |
RE/ ?\\\ ® \ D8D9 DIl
Wit 4 N ~ T~
(’/min) 08 N By . .~
0.6 \ \ \ \\ ym.ns y
X \\ e | % N G10
04 \y N N N
B |\ N\ S
p%
G1 D10
0.2 \
\ 62.G3
D2D3
3 O Y
0 50 100 150 200 250 300
##I/ Static Pressure(mbar)

WWW.DARGANG.CN




AU5E HhaRdmet| SRR BPJES - R E BB FRER EAEE | B 2
Model Curve Frequency |Output Voltage Current Static pressure Max | Noise | Weight
Vacuum / Compressor | Airflow
(Hz) | kW) V) (A) (mbar) (m’/min) | (dB)A | (Kg)
DG-100-16 D12 50 0.18 |200-240A/345-415Y | 1.20A /0.69Y 50/60 1 52 6.5
DG-200-16 D13 50 0.4 ]200-240A/345-415Y | 2.20A/1.30Y 110/130 1.5 58 10.5
DG-200-16W D14 50 0.4 ]200-240A/345-415Y | 2.20A/1.30Y 100/130 1.5 58 11
DG-300-16 D15 50 0.75 [200-240A/345-415Y | 3.70A/2.14Y 140/140 2.6 63 14
DG-300-26 D16 50 0.9 1200-240A/345-415Y | 4.20A/2.40Y 165/180 2.6 63 15
DG-300-16B D17 50 0.75 [200-240A/345-415Y | 3.70A/2.14Y 110/120 2.6 63 14
DG-300-16W D18 50 0.75 [200-240A/345-415Y | 3.70A/2.14Y 140/140 2.6 63 14.5
DG-300-36 D19 50 1.3 ]200-240A/345-415Y | 4.60A/2.65Y 175/200 2.6 63 16
DG-400-16 D20 50 0.9 1200-240A/345-415Y | 4.20A/2.40Y 130/120 3.7 70 20.5
DG-400-26 D21 50 1.3 ]200-240A/345-415Y | 5.70A/3.30Y 180/180 3.7 70 20
DG-400-36 D22 50 1.75 [200-240A/345-415Y | 6.70A/3.90Y 210/220 3.7 70 23
DG-400-36B D23 50 1.75 [200-240A/345-415Y | 6.70A/3.90Y 140/160 3.7 70 23
DG-400-36W D24 50 1.75 [200-240A/345-415Y | 6.70A/3.90Y 210/220 3.7 70 P85S
DG-400-46 D25 50 2.2 |200-240A/345-415Y | 7.80A/4.50Y 220/270 3.7 70 26
DG-600-16 D26 50 2.2 1200-240A/345-415Y | 9.70A/5.60Y 220/210 55 72 32
DG-600-16B D27 50 2.2 1200-240A/345-415Y | 9.70A/5.60Y 160/200 5.5 72 32
DG-600-16W D28 50 2.2 1200-240A/345-415Y | 9.70A/5.60Y 220/210 5.5 72 32.5
DG-600-26 D29 50 3.4 1200-240A/345-415Y | 12.5A/7.20Y 255/270 5.5 72 34
DG-600-26W D30 50 3.4 ]200-240A/345-415Y | 12.5A/7.20Y 255/270 5.5 72 35.5
DG-600-36 D31 50 4 200-240A/345-415Y | 14.3A/8.20Y 270/320 5.5 72 37
DG-800-16 D32 50 5.5 1200-240A/345-415Y | 25.3A/14.6Y 270/290 9.5 74 1
DG-800-26 D33 50 7.5 1200-240A/345-415Y | 31.5A/18.2Y 295/390 9.5 74 88
DG-900-16 D34 50 9 200-240A/345-415Y | 36.0A/20.8Y 200/190 18.9 76 100
DG-900-26 D35 50 13 [200-240A/345-415Y | 46.8A/27.0Y 290/270 18.9 76 112
DG-900-36 D36 50 20 | 200-240A/345-415Y | 66.7A/38.6Y 350/440 18.9 76 159
DG-230-16 D37 50 0.75 1200-240A/345-415Y | 3.70A/2.14Y 200/240 1.6 60 17
DG-330-16 D38 50 1.75 [200-240A/345-415Y | 6.70A/3.90Y 275/300 2.6 66 25
DG-330-26 D39 50 2.2 1200-240A/345-415Y | 7.80A/4.50Y 320/390 2.6 66 28
DG-430-16 D40 50 3.4 ]200-240A/345-415Y | 12.5A/7.20Y 345/410 3.7 74 40
DG-430-26 D41 50 4 200-240A/345-415Y | 14.3A/8.20Y 355/460 Sl 74 43
DG-630-26 D42 50 4 200-240A/345-415Y | 14.3A/8.2Y 350/350 5.5 75 55
DG-630-36 D43 50 5.5 1200-240A/345-415Y | 21.6A/12.5Y 410/500 5.5 75 72
DG-630-46 D44 50 7.5 1200-240A/345-415Y | 31.5A/18.2Y 420/580 5.5 75 82
DG-640-36 D45 50 5.5 1200-240A/345-415Y | 25.3A/14.6Y 200/220 7.9 75 72
DG-640-46 D46 50 7.5 1200-240A/345-415Y | 31.5A/18.2Y 240/275 7.9 75 82
DG-830-16 D47 50 7.5 1200-240A/345-415Y | 31.5A/18.2Y 350/350 9.5 76 112
DG-830-26 D48 50 13 ] 200-240A/345-415Y | 46.8A/27.0Y 430/600 9.5 76 142
DG-830-36 D49 50 20 [200-240A/345-415Y | 66.7A/38.6Y 450/700 9.6 76 160
DG-840-16 D50 50 7.5 1200-240A/345-415Y | 31.5A/18.2Y 180/145 14.2 76 110
DG-840-26 D51 50 13 [200-240A/345-415Y | 46.8A/27.0Y 250/250 14.2 76 140
DG-840-36 D52 50 20 [ 200-240A/345-415Y | 66.7A/38.6Y 300/300 14.2 76 160

ffzE/Remark : 1. EAUERHIESE » AARFEDERRE -

Information above is for reference, product only when different.

LANTEIRAERGTEE RN AR STEA -

We reserve the right to change the design without notice.

3 ERISERTF A KSR AN -

Should you require any further information or assistance, please do not hesitate to contact us or distributors.

6 WWW.DARGANG.CN



— HB%/ Single Stage

— WE}/Two Stage 50Hz(% / Vacuum)
y 5
20
10
8
6
4
2 RE
(m3/min)
1
0.8
0.6
0.4
D39’ e 4 D13 D12
D37 0.2
lIIIIIIIIIII|IIIIIIII|IIIIIIII|IIIIIIII|[III 0.1
500 400 300 200 100 0
i# & (mbar)
— HEB%/ Single Stage
— B}/ Two Stage 50Hz(H: / Compressor)
25
20
NN ~
04 \ \|] D17 DI6 N\, B D39
y \ N D19 N\ D5
0.2 LS N
2 1\ piause D37
0.1 P b oo b b b b b perer b e b b b fer e e
0 100 200 300 400 500 600 700 800

TJM# WWW.DARGANG.CN



AU5E HhsR4mat | AR BJES 1S SRR E BRI FRER EAEE| BE &
Model Curve Frequency |Output Voltage Current Static pressure Max Noise | Weight
Vacuum / Compressor | Airflow
(Hz) | W) V) (A) (mbar) (m’/min) | (dB)A | (Kg)
DG-100-16 G12 60 0.2 220-275A/380-480Y | 0.90A /0.50Y 70/70 1.2 55 6.5
DG-200-16 G13 60 0.5 220-275A/380-480Y | 2.30A/1.30Y 140/160 1.8 61 11
DG-200-16W| Gi4 60 0.5 220-275A/380-480Y | 2.30A/1.30Y 140/150 1.8 61 LS
DG-300-16 G15 60 0.85 | 220-275A/380-480Y | 3.90A/2.25Y 140/140 3.1 64 14
DG-300-26 G16 60 1.1 220-275A/380-480Y | 4.50A/2.60Y 180/180 3.1 64 15
DG-300-16B G17 60 0.85 | 220-275A/380-480Y | 3.60A/2.10Y 140/140 3.1 64 14
DG-300-16W]| GI18 60 0.85 | 220-275A/380-480Y | 3.90A/2.25Y 140/140 3.1 64 14.5
DG-300-36 G19 60 1.5 220-275A/380-480Y | 5.25A/3.00Y 205/230 3.1 64 16
DG-400-16 G20 60 1.1 220-275A/380-480Y | 4.50A/2.60Y 120/110 4.4 73 20.5
DG-400-26 G21 60 155 220-275A/380-480Y | 6.00A/3.50Y 170/160 4.4 73 22
DG-400-36 G22 60 1.9 220-275A/380-480Y | 7.00A/4.00Y 200/200 44 73 23
DG-400-36B G23 60 1.9 220-275A/380-480Y | 7.00A/4.00Y 160/180 44 73 23
DG-400-36W| G24 60 1.9 220-275A/380-480Y | 7.00A/4.00Y 200/200 44 73 235
DG-400-46 G25 60 2.6 220-275A/380-480Y | 9.50A/5.50Y 255/290 44 73 26
DG-600-16 G26 60 2.6 220-275A/380-480Y | 10.7A/6.20Y 220/200 6.5 77 32
DG-600-16B G27 60 2.6 220-275A/380-480Y | 10.7A/6.20Y 195/200 6.5 77 32
DG-600-16W | G28 60 2.6 220-275A/380-480Y | 10.7A/6.20Y 220/200 6.5 717 32.5
DG-600-26 G29 60 37 220-275A/380-480Y | 13.5A/7.80Y 280/270 6.5 717 34
DG-600-26W | G30 60 37 220-275A/380-480Y | 13.5A/7.80Y 280/270 6.5 717 35.5
DG-600-36 G31 60 4.6 220-275A/380-480Y | 16.2A/9.30Y 315/320 6.5 77 37
DG-800-16 G32 60 6.3 220-275A/380-480Y | 29.5A/17.0Y 290/270 11.3 79 77
DG-800-26 G33 60 8.6 220-275A/380-480Y | 37.0A/21.3Y 350/395 11.3 79 88
DG-900-16 G34 60 11 220-275A/380-480Y | 37.0A/21.4Y 180/170 224 81 100
DG-900-26 G35 60 15 220-275A/380-480Y | 51.5A/29.8Y 280/270 224 81 112
DG-900-36 G36 60 22 220-275A/380-480Y | 76.0A/44.0Y 365/420 22.4 81 159
DG-230-16 G37 60 0.85 | 220-275A/380-480Y | 3.90A/2.25Y 245/245 1.8 67 17
DG-330-16 G38 60 1.9 220-275A/380-480Y | 7.00A/4.00Y 300/300 3.1 69 25
DG-330-26 G39 60 2.6 220-275A/380-480Y | 9.50A/5.50Y 350/420 3.1 69 28
DG-430-16 G40 60 3.7 220-275A/380-480Y | 13.5A/7.80Y 370/350 4.4 il 40
DG-430-26 G41 60 4.6 220-275A/380-480Y | 16.2A/9.30Y 410/475 4.4 741 43
DG-630-26 G42 60 4.6 220-275A/380-480Y | 16.2A/9.3Y 350/350 6.5 79 55
DG-630-36 G43 60 6.3 220-275A/380-480Y | 26.5A/13.5Y 420/500 6.5 79 72
DG-630-46 G44 60 8.6 220-275A/380-480Y | 37.0A/21.3Y 450/675 6.5 79 82
DG-640-36 G45 60 6.3 220-275A/380-480Y | 29.5A/17.0Y 180/170 9.5 79 72
DG-640-46 G46 60 8.6 220-275A/380-480Y | 37.0A/21.3Y 260/260 9.5 79 82
DG-830-16 G47 60 8.6 220-275A/380-480Y | 37.0A/21.3Y 290/290 11.3 81 112
DG-830-26 G438 60 15 220-275A/380-480Y | 52.0A/30.0Y 450/600 11.3 81 142
DG-830-36 G49 60 22 220-275A/380-480Y | 76.0A/44.0Y 470/780 11.3 81 160
DG-840-16 G50 60 8.6 220-275A/380-480Y | 37.0A/21.3Y 110/110 16.5 81 110
DG-840-26 G51 60 15 220-275A/380-480Y | 52.0A/30.0Y 230/200 16.5 81 140
DG-840-36 G52 60 22 220-275A/380-480Y | 76.0A/44.0Y 300/280 16.5 81 160

ffEE/Remark : 1. EIUERHESE » IFAREDERRBE ©
Information above is for reference, product only when different.
LANFRERETEE 2R JRSATEA -
We reserve the right to change the design without notice.

TAESHRE AN

3AEESERHH

/8

Should you require any further information or assistance, please do not hesitate to contact us or distributors.

WWW.DARGANG.CN

8




— HB%/ Single Stage

— B}/ Two Stage 60Hz(% / Vacuum)
25
e G50 X
asv— G5,
P — #_ 10

prd
9.~

/ 77 7 7 06
G5~ G195 7z / ‘
7 Z 7 04
& / ’
G37 \/ G13.14* F 0.2
ot
||||||||II|[I|II|II||III[IIII|I||I||II||[lI O.l
500 400 300 200 100 0
7 [ (mbar)
— EEE% / Single Stage
—  ®BEY/Two Stage 60Hz(H: / Compressor)
%50 [ ——
G50 7O —_ G35
i 5T G52 %
\\ \%K
8 ‘\‘*G4i\‘647| o T—]
R — e G48'
4 — | G268 G43
ﬁ E P G42 7|G33 ‘\; | G
(m3/min) 2 " < Géggg i - Gal —bu
\\\Glsk/Gz - G40
1N\ \ NS g6 \/095\\, G39
XN N /
08 1N\ ANAN
\ N NN
06 \ N NG9
. \\ \\ / G317
04 -
0.2 63
0.1 ||II|||1|I|||||IIIII|I|I|IIIII||II|I|III|II]|I|l|||||l II|||1|IIIII||IIII
0 100 200 300 400 500 600 700 800
## B (mbar)
0 A! WWW.DARGANG.CN



DG-100 £:51]

M6*15— g T
1 o,
) \/ 2.
5 & \
2 / |
K\'” 120° "’/Z

o g
0/ g ——
z = L]

PE1 L

m

==
=T —
-

87 -
27
B -T1= % |_ 115 |_ 87
103 155 67
! 325

PF 2
=

WWW.DARGANG.CN



DG-600 %1 only DG-600 **W

381

395
ot s
125 42 O228 ]"
5% % =
- 1%y Y N
] \\’\/ 18y ]
| ©
off Tl T | =

I

,12.,%_%

T
180 ‘
360

only DG-800 **W

475

il g
= 11
- 155 || 280 1l 20 | E r
B ' 318 [‘ = L1 1
33 455 = 155 || 280 |k 20
=5 I = 25,
= 318
33 455
I
620
312 55 253
| | = ‘\
(EXe)] = Y
T —— = 2
T \
ZJ §A90—"
38| ZZ 4/
ppp— ’7—{4 O ;;] /(0
ivL ) _%] \ /
-
e 600 1195
I I
| 630 |
' 672 ‘
710 ‘
\
DG-230 25|
ZIN
310
R
100
M20°1.5
T ,
L F \‘:I-.f'\
N\
—— s X
0©o Al ""
ol I | .8 " o 00} ’|
| 2.\
0 g2 \.'_,
@ '\}‘. /Q
S
] D -
- I =
o ’ 46.5
B 83 e 136.5
56| 108 124
288

R

WWW.DARGANG.CN



DG-330 %41

r
ofT T §| I <t |
& =% &
= N —— o
e
:g I =
B ! 95 ‘
st _| 130
318
376 450
L 4
[ 120
P
{ —I T =| 2 *\‘
(= #
= — e
L us J]_ )
12 155 152
409
( )For DG-630-2%
426 362(465)
| 455 | 333(235) 9
‘ R mE
) O W — g,
g s
g : . «é"\"
i | o (o)
IS\ . =T\ 8
L K S -8 1/
3 ; S~
81
114(62. 5
823 " z may || qul
|
290 180 180
330 540(450)

%5 WWW.DARGANG.CN



DG-640 %51

()For DG-830-1*

310¢128)

4 MI2*¥18
N

©408-3%120° —=

]

WWW.DARGANG.CN



BEEFZ( (Single Stage)

A b a
c d
] ! \DI- \\\
- |r .8 /\"“/ %.'
{ =l = X :
i*k , p i o
il < +
{ DE El’ 120 2
—] |
" _L : _! N
B F
MODEL E F H I K L M N @) P Q
DG-200-0 [ 248 245 90 205 230 226 128 - 33 108 il 72 40 |PF11/4" 64
DG-300-0 [ 285 302 115 225 255 240 154 - 95 130 67 78 45 [PF11/2" 68
DG-400-0 | 333 338 120 260 296 298 172 27 115 155 96 87 43 PE2" 83
DG-600-0 | 381 415 125 290 330 333 205 27 140 180 83 110 55 PE 2" 83
DG-800-0 | 460 550 155 365 425 455 275 33 280 318 155 20 91 |PF21/2"| &128
DG-900-0 | 557 630 210 360 412 672 305 38 600 630 - 95 95 PF 4" 150
MODEL | R S §V| V-HOLE |Y*Z| a b c d e f g h i *k
DG-200-0 | §10 [ 25 [ §140 | 071207240° [M6*15] 117 53 50 3 24 40 8 20 4 M8%20
DG-300-0 | §12 3 §174 | 071207240° | M6*15] 113 53 50 3 24 40 8 20 4 M8%20
DG-400-0 | §14 4 §200 | 07120°7240° | M8*15| 162.5 | 63 60 3 28 40 8 24 4 M8%20
DG-600-0 | &15 | 45 | §240| 071207240° | M8*15] 179.5 | 63 60 3 28 40 8 24 4 M8%20
DG-800-0 16 31 §408 | 07120°7/240° IM12*15] 268 83 30 3 42 60 10 38 4 M10*30
DG-900-0 16 28 §490 | 07120°7/240°  [M12*20] 303.5 | 113 110 3 42 90 14 37.5 4.5 M10*30

ZEEFH, (Double Stage)

b a
ol
"‘51, -
1L YZ )(
— S| = e Al
%k B 3 2 "‘/ l?
o B A‘ *
P
'} | K N
L
I F
T
MODEL | A | A B | C D E F H | H I K L M | N ) P
DG-230-0 284 | 305 272 | 45 205 230 288 128 106 - 83 108 71 1365 | 40 PE11/4"
DG-330-0 321 | 315 315 | 57.5 225 255 318 152 152 - 95 130 67 152 45 PE11/2"
DG-430-0 364 | 396 377 | 60 260 296 382 175 144 2] 115 155 96 172 48 PF 2"
DG-630-0 424 | 428 420 | 62.5 290 330 423 205 163 2] 140 180 83 200 55 PE2"
DG-830-0 486 | 372 550 | 77.5 365 425 565 215 215 33 280 | 318 155 130 91 PF21/2"
MODEL | Q [ R | S | U |§V V-HOLE Y*Z | a b c d e f g h i i*k
DG-230-0 64 | 810 25 90 | $140 51.57171.57291.5" | M6*15 | 180 53 50 3 24 40 8 20 4 M8*20
DG-330-0 68 | 121 3 101 | 174 60°/1807/300° M6*15 | 189 53 50 £ 24 40 8 20 4 M8*20
DG-430-0 83 | &14| 4 115 | $200] 51.5/171.5°/291.5" | M8*15 | 248 63 60 3 28 40 8 24 4 M8*20
DG-630-0 83 | &151 45 | 119 | $240| 51.57171.5/291.5" | M8*15 | 2755 | 63 60 3 28 40 8 24 4 M8*20
DG-830-0 | & 1281 16 31 37 | §4081 51.57171.5/291.5° IM12*151 3765 | 83 80 3 42 60 10 38 4 M10*30

W | WWW.DARGANG.CN



BB (Single)

=1
A=
Wo o

)
)
\\\\‘\\\

%
R
1

AW
e
5
&

U

((®

001 JEEE Impeller 007-08 |fc4p &% H Terminal box washer 015 RS Washer

002  |EZ Compressor cover 007-09 |Bo4REE# R Terminal cover washer 016  |ROR¥F Ware washer
002-01 [FFEZ Middle compressor cover |007-10 |EZ23EEH Capacitor washer 017  |*=%EFE Cotton seal
003 JEffE Compressor housing 007-11 |EEZ5 28 Capacitor 018 Rifl &S Washer
003-01 |9 EFE Middle compressor housing [007-12 |i& 5 Steel clip 020 iR Bronze ring

004 f#1- Rotor 008 Hil"& Silencer housing 021 Hijffi7ZK Front bearing
005  |BAE4EE Fan 008-01 |BIE#:  Silencer washer 021-01 |#&#f7& Rear bearing
006 JHE 849 Silencer mesh pipe 009 Al Mounting plate 021-02 |Fif#7# Front bearing
006-02 [} 7E45 Silencer sponge 010 B3 Z Middle motor cover 023 FiiEhES Front oil seal
007 FE# Motor 011 ZF Inlet/outlet 023-01 |flES VA-seal

007-01 |F#E1%Z Motor cover 011-01 |51 Inlet/outlet washer 024 |i&¥hE Rear oil seal
007-02 |Bz$8Z Fan cover 012  [5MER$#F Protection steel skin 025 FIRE EE R Silencer socket
007-03 |fic4#& Terminal box 012-01 |_EF8F0 Buckle (up) 026 HIOEE Outlet cover
007-04 |EC&Ri+ Wire socket 012-02 | F#E# Buckle (down) 026-01 |#fZ Cover

007-05 [#filr Wire connection slice 013 ## Rotor pin 027 &% Extend pipe
007-06 |BEML Fixed slice 014 Hijdl&EE H Bearing washer 027-1 |€% Extend pipe
007-07 |fic4# &2 Terminal cover 014-01 [df7& C ZUH1ER Bearing washer 028 90" % 90°extend pipe

* ETIBIF A S RER+ BFRSE (B20:DG-600-26+002)
* Please notify model+parts item when you purchase.
PRNEIRE RGTEE 2R AR STEA

*We reserve the right to change the design without notice.

%+ WWW.DARGANG.CN



B "
FERERK / Pressure Relief Valve — PF 1-1/4"
Qy I el
g | L it =
CI1{E/PF o |
Type (mm) Dimension | o \
RV-01 11/4" 142 0~3000mmAq i e
RV-02 11/4" 142 0~6000mmAq <t v é il
a ‘ﬁ ==
0t 958
=3i8% [Tee Pipe (mm)
pitlli 7 P iR
Type Application
TP-01 DG-200,230,300,330 %%1(Serial)
TP-02 DG-400,430,600,630,640 Z51(Serial)
PF11/4"
=
TP-01 ’,
A
9-02 2

?56

MF ZU3E 7825 / MF Type Suction Filter

FF5% Symbol | LIfE | D L H B |#EMEH) | EEke)
ﬂ%\ PT | (mm) | (mm) | (mm) | (mm) | Filtration mesh | Weight

MF-08 1" 58 | 170 | 155 | 42 100 0.20

ME-10 114" | 71 | 186 | 170 | 54 100 0.35

ME-12 112" | 8 | 196 | 182 | 65 100 0.49

ME-16 2" 103 | 215 | 202 | 75 100 0.65 i

ME-20 212" | 148 | 274 | 252 | 97 100 1.20

ME-32 4" 208 | 380 | 357 | 142 100 245

PT *

WWW.DARGANG.CN



HEES
@mbd A B C

#4555 Type (mm) (mm)
SI-01 PF11/4" 83 180
SI-02 PF1 12" 98 180
SI-03 PE 2" 117 266
SI-04 PE2 172" 145 325

@
A A B

ZF[O/Threaded Flange[mm] A
FF9% Symbol| A B|C|D]|E/|F r | A
M;k & U]
2011 [priwar| 7 | 22| 64 | 79| 6 [
3011 [priw| 7 |24 [ 68 | 86 | 6 i ! | \
6-011 PF2" 7 |18 | 8 |100| 7
8-011 PF212'| 15 | 16 |©128| 144 | 7
9-011 PF 4" 8§ | 22 | 150|170 | 9
P Bt I B BOK 24
Footprint dimensions for vertical/horizontal mounting|mm]
AISE Type | D H| G| L G—
MFB2520 | 25 | 20 | M6 | 12 | L
MFB3025 | 30 | 25 | M8 | 15 L
MEFB7540 | 75 40 | M12 | 20 H
MFB7545 | 75 | 45 |M12]| 37 ,,,,Jﬂlm it

(e
@

bifet: ERREEMACH: - SREEA L S S s

If you need other accessories, please contact us or distributors.

%% WWW.DARGANG.CN



